Elite

LUXURY HEATED TOWEL RAIL
INSTRUCTION MANUAL

—

Round & Square Bar

Chrome & Midnight (Black) Finish

600H x 500W
600H x 650W
600H x 850W
600H x 1050W
900H x 400W
900H x 500W
900H x 650W
900H x 850W
1200H x 500W
1200H x 650W
1600H x 600W



This appliance MUST be installed in accordance with the relevant wiring rules and
regulations and in particular those regulations which cover installation of appliances and
accessories in damp situations such as bathrooms, showers, laundries and other areas

with fixed water containers. It is to be fitted in accordance with applicable

Australian/New Zealand standards (AS/NZS).

THIS CLASS 1 APPLIANCE REQUIRES EARTHING.

Special purpose tools are required for the replacement of the power supply cord and

element. Contact an Authorized Service Agent for service.

ROUND & SQUARE ROUND SQUARE
BARQ HEIGHT(mm) | WIDTH(mm) DEPTH(mm) DE%TH(mm) WATTAGE
600 x 500 600 500 122 120 70
600 x 650 600 650 122 120 100
600 x 850 600 850 122 120 115
600 x 1050 600 1050 122 120 140
900 x 400 900 400 122 120 100
900 x 500 900 500 122 120 110
900 x 650 900 650 122 120 135
900 x 850 900 850 122 120 165
1200 x 500 1200 500 122 120 140
1200 x 650 1200 650 122 120 165
1600 x 600 1600 600 122 120 215

Sizing table applies to Chrome and Midnight (Black) finishes.

ELECTRICAL

Power Supply = 230 — 240 Volts. 50Hz. Single Phase
Ingress Protection Rating: IP55 Double Insulated

CLEANING

The Heated Towel Rail is best wiped down from time to time with a damp cloth.
DO NOT USE ANY ABRASIVE OR CORROSIVE CLEANERS.




SAFETY INFORMATION

Please follow the basic safety instructions when using electric heated towel rail products.

READ THESE INSTRUCTIONS CAREFULLY. Keep them handy for future reference.

This appliance is used for warming and drying towels, therefore it is hot to touch. Young children or infirm
persons should be supervised when the product is working and ensure that they do not touch the appliance.
The appliance will feel hotter to touch during warmer periods because of the rise in ambient temperature.
Also the insulation effect of towels will cause the operating temperature to increase slightly.

The appliance should be installed so that switches and other controls cannot be touched by a person in the
bath or shower.

This appliance is ONLY used for warming and drying towels, DO NOT use it for any other purpose.

To avoid danger this product MUST NOT be used to carry towels or any other articles that have been in
contact with oil, petroleum based products or dry cleaning fluids.

Make sure the voltage complies with the specification on the rating label, or elsewhere in these instructions.
For your safety and others, make sure the electrical work is done by an authorized person according to
AS/NZS3000:2000 Wiring Rules and Regulations.

DO NOT immerse in any liquid.

DO NOT allow the power cord to contact with the hot surface when it is working.

If the product does not work well or is damaged, it must be fixed or replaced by the manufacturer, its service
agent or similarly qualified persons.

WARNING: The bottom rail of this product MUST be installed at least 600mm above the floor in order to
avoid risk of harm to young children.

INSTALLATION & ILLUSTRATION

Thank you for purchasing an Elite Heated Towel Rail. This towel rail is unique in the flexible way you can connect
to the power supply. The electrical connection can be made through either the lower left or right legs. This
connection can be either directly wired through the wall or via the cord and plug supplied.

Note: The heated towel rail must be installed by a professional service agent or qualified person. Make sure you
have read the safety information before installing. Make sure there is enough space for your heated towel rail
according to its real size and there is no direct contact with other objects.



There are two methods of installation:

A. OPEN WIRING INSTALLATION

‘o) —

- A indicates the two structural brackets which fix the towel rail to the wall. The towel rail must be installed with

these brackets at the top. They are installed using METHOD @ below.
- B and D indicate the two choices for the power cord (left hand side or right hand side). Whatever bracket you

choose, follow METHOD ® below for its installation. The remaining bracket is installed using METHOD @ you
must make sure the remaining socket is covered well as the picture shows to prevent moisture entering the

electrical connection.

B. CONCEALED WIRING INSTALLATION

- A indicates the two structural brackets which fix the towel rail to the wall. The towel rail must be installed with

these brackets at the top. They are installed using METHOD @ below.
- B and C indicate the two choices for internal power connection (left hand side or right hand side). Whatever

bracket you choose, follow METHOD @ below for its installation. The remaining bracket is installed using
METHOD ® you must make sure the remaining socket is covered well as the picture shows to prevent moisture

entering the electrical connection.



BRACKET INSTALLATION METHODS 1-4

».

\ q
i = \

Gib-board

1/ Timber

i Framing
W’-*’/f&/( L
M/ .
A A

D

Top Brackets

ﬂ\\‘\\!ertical Bar
— “_Screw M5x16

~__ Wall Spacer

a

= “w_  Screw
. M5x6
e

=

—_ =,
N N Screw

N ~. Base
~ \_  Plastic
B Expander

\

Gib-board

- \\\‘\
Timber
Framing [/777777

X

Blanked Off Electrical Connection

|
% \\M

~.Connecting Sheet

g

r:"\ o . Water

c\\wﬂ
-.Screw M4x6

x\\ Wall Spacer
L 1%
- ~.._Screw M5x6

k‘_"\-.
~~.__ Screw
- L e

A~

= —__ Base
~ Plastic

ot

© " ~._Expander

™




\ — * -Vertical Bar
menb‘\ Connecting

“ “~__ Sheet

/ Gib-board \\_ Water

7777 ]|//// /1 Framing * ‘i Screw M4x6
/ X = s Wall Spacer
/ t;ciable Sleeve
ScrewSMS:(S -
crew
Base ,/"t‘;@
3) o
o

™-_Plastic Expander
Power Cord and Plug Connection

L [N

4= . "Verhlll Bar
Gib-board &

. Connectlng
& Sheet
Timber 'y \

/

: \ N\ Water
Framing pr773 W77 j o N N\ Proof Plug
\\ X %J 2T b
INA N / N .Screw M4x6
/ e Wall Spacer
Drill the hole @18 || e LS
depth 50mrp for K . .Screw M5x6
Nylon fixing e RN
(Use Timber Glue) : | — U7
b _ | Y.
4) "

Internal Wiring i\ Nylon Fixing




	CLEANING
	SAFETY INFORMATION
	INSTALLATION & ILLUSTRATION


